(0 @) (rad)

Ratio

o p/p.)

=
<

1072

L . -+

a(d cot(d))

103 p——didd LRlbbbal v v vviinl 4 vii
' Tl |3 : :
LA of T 11 Poreeeeeaes SRRRRIERELES

1072

1071 1

=

1072 p——p ol ]
- -1 S SRR AEEEEELEETEEEEEEEEERETD

. :

E 4| :
0.8f---- - F-- - E R ERT-EEPEPEPEPE

r I :
0.6f----- LAk H B

=)

T

Ratio

0.8k - . . 085~
10™ 1 10 0 .1 10°
TP, (PCA t% beamling
—=— DQM_mkFit_XiMinusPU_retrain2
—— DQM_mkFit_XiMinusPUold
= = T T
= I I T S S IS : :
5] o Foeee -
- * — + .
—\? e L R R e gN <+ H H
o] * - i H P Shii M
<} o e N
3 ©

1




	Contents
	Page 1


